0 & 1 PLC DEC:+0.3

O = = _ | e ) — € O L L O O Al <C
© 16
FIND NO. [P/N DESCRIPTION QTY
w N659547 SA HOUSING SET DEWALT 20V GEN2 AXIAL BLOWER w
2 N689297 SA FOOT w
— 3 N692864 SA MOTOR PACK BL51x17 20V BLOWER w —
4 N659555 INLET DEWALT 20V GEN2 AXIAL BLOWER w
5 N692846 BAFFLE APPLIQUE DEWALT BLOWER CORDLESS 20V MS4093 w
(6)X9 6 330019-03 SCREW, PLSTC THD FORM, M3.5X16 T15 19
- 7 N734695 SA SLAMMER PCBA WITH WIRES w 15
8 N723036 SA WIRE HARNESS DEWALT 20V GEN 2 BLOWER MS4093 w
9 N659554 STATOR HOUSING DEWALT 20V GEN2 AXIAL BLOWER w
10 N540113 SCREW, M2.5X8 TORXPAN HD 3
S— 11 N676774 TRIGGER DEWALT 20V BLOWER MS4057 w S
12 60521101 PIN,DOWEL (M3X30) w
13 N676776 SPEED WHEEL DEWALT 20V BLOWER MS4057 w
14 N637776 SCREW, MACHINE w
hl 15 [ TM90610773  [NUT, M4 w 14
16 398218-00 WASHER, PLAIN 4X8X0.45 2
17 | TM90605688 |SPRING, CLUTCH w
18 | TM90605748 [CLIP, TUBE w
_ 19 | TMS0609997 |SPRING, TORSION w |
20 330019-04 SCREW, PLSTC THD FORM, M3.5X19 T15 4
21 N704542 LOWER GUARD STAND DEWALT 20V BLOWER MS4093 w
22 N69 1456 TUBE, BLOWER w
™ 23 N665136 SA AEROSP IKE ATTACHMENT DEWALT 20V GEN2 AXIAL BLOWER w 13
NOTES :
o 12
1. ALL MATERIALS MUST COMPLY WITH ES100118.
_ 11
= 10
o)) 9
00 3
(6)X3
M~ /
© 6
Ig) 9
< 4
) )
N THIRD ANGLE |TOL UNLESS SPECIFIED 2
PROJECT ION SLACK & DECKER [NC.

©d

2 PLC DEC: +0.10 DOC NO

ANGLES: = 1.0°

THIS DOCUMENT IS THE PROPERTY OF BLACK &
DECKER INC. THE CONTENTS OF THIS DOCUMENT
ARE CONF IDENTIAL AND CONSTITUTE TRADE S|7E

alL Dimensions wm | 1 TLE:  EXPLODED DRAWING DCBL /722

REF SCALE: _ _
GECTRR STt B e [T o [T | REVISTON s VER/ITER: #xx
SHALL BE DISCLOSED TO ANY UNAUTHORIZED N
AR R L CHANGE
COPYRIGHT © 20719 BLACK & DECKER INC. T OF 1 FOR PART DATA REFER TO PART DETAILS REPORT o
O ‘ N M L K - E D C B A

SBD



